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KEEDEITHITHMESHRERERR

FrfEdh: E1+81-65

Df2EE
AIE B - Xf& BT #h 5 AR (Y A5R>— AL BE) HBITE 27 -
5cm 50c¢m 100cm
Ot ehiER (Z) — 0.05 — PA-1000
12/4(£) BN QFRYEEO — 0.05 — PA-1000
@R FHI — 0.06 — PA-1000
it o lER (G2) — 0.06 — PA-1000
6/2(N)EY Q¥ RYERERD — 0.05 — PA-1000
@R FHI — 0.05 — PA-1000
FRR314ERE
. . BIEE (R4 —~)LNEE)
HIE B - R IE HITE Hh = HITE 27 e
5cm 50c¢m 100¢cm
Ot L ER () — 0.06 — PA-1000
12/3(Q) BN QFRYERKO — 0.06 — PA-1000
Q@R FHI — 0.05 — PA-1000
Ot ehiER () — 0.05 — PA-1000
6/7(&)EY Q@¥RYEREA — 0.05 — PA-1000
@R FHI — 0.06 — PA-1000
2/9 (E13)



KEEDEITHITHMESHRERERR

FrfEdh: E1+81-65

T R 304F
AIE B - Xf& I TE Hh 2 AR (Y A5R>— AL BE) HBITE 27 -
5cm 50c¢m 100cm
Ot ehiER (Z) — 0.05 — PA-1000
12/5(K) &Y QFRYEEO — 0.06 — PA-1000
@R FHI — 0.06 — PA-1000
it o lER (G2) — 0.06 — PA-1000
6/7(K)EEN @I RYEKEO — 0.06 — PA-1000
@R FHI — 0.05 — PA-1000
SRR 294 E
. . BIEE (R4 —~)LNEE)
HIE B - R IE HITE Hh = HITE 27 e
5cm 50c¢m 100¢cm
Ot L ER () — 0.05 — PA-1000
12/71(R) BN QFRYERKO — 0.06 — PA-1000
Q@R FHI — 0.05 — PA-1000
Ot ehiER () — 0.06 — PA-1000
6/7(K)EY Q@¥RYEREA — 0.07 — PA-1000
@R FHI — 0.06 — PA-1000
3/9 (E13)



KEEDEITHITHMESHRERERR

FrfEdh: E1+81-65

k284 BE
AIE B - Xf& BT #h 5 AR (Y A5R>— AL BE) HBITE 27 -
5cm 50c¢m 100cm
Ot ehiER (Z) — 0.08 — PA-1000
12/8(R) BN QFRYEEO — 0.07 — PA-1000
@R FHI — 0.06 — PA-1000
it o lER (G2) — 0.06 — PA-1000
6/7(X)EY Q¥ RYERERD — 0.07 — PA-1000
@R FHI — 0.06 — PA-1000
FERR214EFE
. . BIEE (R4 —~)LNEE)
BIE B - X% HITE Hh = HITE 27 e
5cm 50c¢m 100¢cm
Ot L ER () — 0.08 — PA-1000
12/7(R)EN QFRYERKO — 0.07 — PA-1000
Q@R FHI — 0.07 — PA-1000
Ot ehiER () — 0.08 — PA-1000
6/8(R)EEN Q@¥RYEREA — 0.06 — PA-1000
@R FHI — 0.06 — PA-1000
4/9 (E13)



KEEDEITHITHMESHRERERR

FrfEdh: E1+81-65

T A 264F
— — BIEE (Ao —N)LNER ,
BI%E B - K IR I : c'mE“ e *’?fgcm e e
Ot LER () — 0.07 — PA-1000
3/6(&)EN @I NY&EEO — 0.07 — PA-1000
@R FHI — 0.08 — PA-1000
Ot ER () — 0.08 — PA-1000
12/8(R)BEN @I NY&EEO — 0.08 — PA-1000
@R FHI — 0.08 — PA-1000
OBt L ER () — 0.09 — PA-1000
9/8(A)EY QFRYAEKEO — 0.08 — PA-1000
@R FHI — 0.08 — PA-1000
OBt L ER () — 0.09 — PA-1000
6./6(&)EY QFRYAEKEO — 0.08 — PA-1000
@A FHI — 0.08 — PA-1000
5/9 (E13)



RE-DEICH T HMESHRERERR

FrEdh : E181-65

Rk 254ERE
I e BEE (XA —_ )L EH) e
JAlE R 951'; /ﬂ'liEiﬁ,."—:"\ Som 50cm 100¢em JHIEES ﬁ%%
X O L ER (Z) — 0.07 — PA-1000
2 /@”;’zﬁz ? if_,;:,,) @¥~Y&ERA — 0.08 — PA-1000
QR FHI — 0.07 — PA-1000
Dt i ER () — 0.08 — PA-1000
1272(R) Bh Q@3 RY&EEDO — 0.09 — PA-1000
@R F Al — 0.08 — PA-1000
O L ER (2) — 0.08 — PA-1000
10/3(K) HEh QI RYEEO — 0.10 — PA-1000
QR FHl — 0.09 — PA-1000
OB L ER (2) — 0.09 — PA-1000
QFRYAKO — 0.10 — PA-1000
8.2(2) Eh @N“ffﬁﬁ — 0.09 — PA-1000 ’ _
ANF — 0.08 — PA-1000 EERFBIE (REFRIFH D ATFEIEH 5 S5 FF)
ClEg Y2 — 0.08 — PA-1000 ”
OlFaLE — 0.09 — PA-1000 ”
OBt ER () — 0.09 — PA-1000
6.3(R) Bh Q@3 RY&EEDO — 0.10 — PA-1000
QR FHl — 0.07 — PA-1000
Ot Ep () — 0.09 — PA-1000
415(A) Bh QI RYEEO — 0.10 — PA-1000
@R FHI — 0.10 — PA-1000
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RKELEICEITHMESIREAERER

FrEdh : E181-65

R4
I B - X2 Bl R 1= T e Bl =
5cm 50c¢m 100cm
O iER () — 0. 10 — PA-1000
3/1(A) <Y Q@3 RYEED — 0. 11 — PA-1000
QR FHi — 0. 09 — PA-1000
Dt i ER () — 0.12 — PA-1000
2/1(%) Bh Q@3 RY&EEDO — 0.13 — PA-1000
@R F Al — 0. 10 — PA-1000
X O L ER (2) — 0.13 — PA-1000
1 /f(%z)yf%h @¥~YERA — 0. 11 — PA-1000
QR FHi — 0. 10 — PA-1000
OB L ER (2) — 0.12 — PA-1000
1273(B) Bhn Q@3 RY&EEDO — 0.12 — PA-1000
QR F Al — 0. 10 — PA-1000
Ot g () — 0.13 — PA-1000
11./5(R) Bh QI RYEEO — 0.12 — PA-1000
@R F Al — 0. 11 — PA-1000
OBt ER () — 0. 09 — PA-1000
1071(8) BEh Q@3 RY&EEDO — 0.12 — PA-1000
QR F Al — 0. 09 — PA-1000
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RST-PREIZHE T HMEIRERIEFFER

FrfEdh: E1+81-65

TR 244E
AEE-XiE A RER (e Aony — 2R AEE %
5cm 50c¢m 100cm

Dt ER () — 0.12 — PA-1000

973(H) Bh Q@3 RY&EED — 0.12 — PA-1000
QR F Al — 0.10 — PA-1000

O L ER (GZ) — 0. 11 — PA-1000

8./1(K) Bh Q@3 RY&EED — 0.12 — PA-1000
QR FHl — 0. 10 — PA-1000

O L ER (Z) — 0.14 — PA-1000

172(R) £Y @3 RYEED — 0. 14 — PA-1000
QR F Al — 0.13 — PA-1000

Okt iER (Z) — 0. 14 — PA-1000

6./6(k) £Y QFRY&EKO — 0.14 — PA-1000
QR FHl — 0. 11 — PA-1000

OBt ER () — 0. 11 — PA-1000

5/1(8) BEh Q@3 RY&EEDO — 0. 15 — PA-1000
QR FHi — 0.13 — PA-1000

Ot i ER (2) — 0.14 — PA-1000

410(k) BENR @QFARY&BEO — 0.15 — PA-1000
QR F i — 0.13 — PA-1000
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REPEICHITOMHARERERR

FrEdh: E181-65

TR 234ERE
e i REMB(IA70L—_ )L MEH) s
HlE B - Xz BIE Hh = o Py oo BIERR -k
/1K) £Y OB L ER (Z) — 0. 15 0.13 PA-1000
gt ER () — 0.15 0.13 PA-1000
2/1(K) Bh @3 RY&EED — 0.16 — PA-1000
QR F Al — 0.13 — PA-1000
) Ot i ER (Z) — 0. 15 0. 14 PA-1000
1/{3§(m,ff¢ﬁ§h @F~Y&EO — 0.16 — PA-1000
QR FHl — 0. 14 — PA-1000
1275(A) BEh | B Es (5 A — 0.17 0.15 PA-1000
11/17(R) Bh A O {483 7 ffa — 0. 21 — PA-1000
1177(8) BEn | B Es (4 RMEE) — 0.17 0.14 PA-1000
Bt Al BB (2 R NERER) — 0.15 0.14 PA-1000
10724(R) &Y &k it — 0.17 — PA-1000
HE A A — 0. 20 — PA-1000
TRL234F Sk — 0.17 — PA-1000
9.726(R) £Y A H — 0.18 — PA-1000
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